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EW ##% #tz(FO) apile EW Hum 354 %(R0)
B# | DL | £ % Fall BB ik REAA | COP Datum
* txzex | NS | EW | 223 | NS | EW | #3 | #6 | #3 | #6 | #3 | #6 Mean NS EW
11 S |None 2HW4 170 3HW4 170 EW310 4 -4
12| W | NS 3NE-1 50 3NW3 400 450 10 EW280 8 3
13 | N |Both 2NS-1 100 1NS1 90 190 5 EW100 -5
14 | E |None 4SW4 420 4SW5 450 30 1 EW90 -8 8
15| S NS 5HW-1 50 4HW4 420 470 10 NS40 10
16 | W | EW 4SS5 450 4SN7 510 60 2 NS480 -1 -1
17 | N |None 3NN-1 50 2NN2 120 170 5 NS210 -6 3
18 | E NS 4S5S4 620 4SS5 650 30 1 NS490 4 -4
19| S | EW 5CXS6 650 3DS5 150 500 11 NS170 10 1
20 | W (Both 3NN5 660 5DN-1 100 760 13 NS320 8 9
@3t IMP|45 | 13 19 | 20
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&3 NP 45 13 Y
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B# | DL | £ % Fall BB ik REAA | COP Datum
[ 2mxg» [ Ns [EW | e5sus | NS [ EW | #2 | #9 | #2] #9 | #2[#9 || Mean | Ns | EW
11| S |None| 4HW4 420 3HW4 170 250 6 EW310 | -3 -4
12| W | NS 3NE3 400 3NE4 430 | 30 1 EW280 | -3 4
13 | N |Both|  2NS-1 100 2NS2 120 220 6 EW100 -6
14 | E |None| 4SW-1 50 3sw4 170 | 220 6 EW90 | 4 2
15| S | NS 5HW-1 50 5HXW-2 | 300 250 6 NS40 -6
16 | W | EW 4ss7 510 4SN6 480 30 1 NS480 | 1
17 | N |None|  3NN4 430 3NN-1 50 | 480 10 NS210 | 6 6
18| E | NS 2Ds-2 200 4Hs4 620 820 13 NS490 | -12 -4
19| s | EW 3DN4 130 1NS3 150 20 1 NS170 | -1 1
20 | W [Both|  3DN5 150 3NS3 600 450 10 NS320 | 5 -7
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B# | DL | £ % Fall BB ik REAA | COP Datum
* txzux | NS | EW | 223 | NS | EW | #7 [ #14 | #7 [#14] #7 [#14]|] Mean NS EW
11| S |None 4HW4 420 4HE4 420 EW310 -3 3
12 | W | NS 5CE-1 50 3NE3 400 450 10 EW280 8 3
13 | N |Both 2NS-1 100 2NS-1 100 EW100
14 | E |None 4SW-1 50 4SW-1 50 EW90 4 -4
15| S | NS 5HXW-1 100 4HW-1 50 50 2 NS40 2
16 | W | EW 4SS5 450 4SN7 510 60 2 NS480 -1 -1
17 | N |None 3NN3 400 2HXW-3 500 100 3 NS210 5 -7
18 | E | NS 4SN-1 100 4SS4 620 720 12 NS490 -11 -4
19| S | EW 3NS3 400 4DS5 150 250 6 NS170 6 1
20 | W |Both 1DW-4 400 3NN3 600 200 5 NS320 2 -7
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B 7 SARD 14 U31
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* txz 2% | NS | EW | 29223 | NS | EW | #11 | #13 [#11|#13|#11|#13 || Mean NS EW
11 S |None 4CN-3 150 4HW4 420 270 7 EW310 4 3
12| W | NS 3NE3 400 3NE4 430 30 1 EW280 -3 4
13 | N |Both 2NS-2 200 2NS-2 200 EW100 -3 3
14 | E |None 4SW-1 50 4SW4 420 470 10 EW90 4 8
15| S NS 5HXW-1 100 S5HXW-1 100 NS40 2 -2
16 | W | EW 4SS7 510 4SS5 450 60 2 NS480 1 1
17 | N |None 5CS-2 100 2NN2 120 220 6 NS210 -7 3
18 | E NS 4S5S4 620 2SXE-4 800 180 5 NS490 4 -7
19| S | EW 3DN4 130 3NS-2 100 230 6 NS170 -1 7
20 | W (Both 3NN3 600 3NN-1 100 700 12 NS320 7 9
#®3t IMP| 38 | 11 8 29
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* B IMP 38 11
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B# | DL | £ % Fall BB ik REAA | COP Datum
Y[ 2nz2s | NS | EW | 2925% | NS | EW | #5 | #12 | #5 |#12] #5 [#12|| Mean | Ns EW
11 | S |None 4HW4 420 4HW4 420 EW310 -3 3
12| W | NS 3NE4 430 3NE-1 50 480 10 EW280 -4 -8
13 | N |[Both 2NS-1 100 2NS-2 200 || 100 3 EW100 3
14 | E |None 5DE-1 50 4SW-1 50 EW90 4 -4
15| S | NS 5HXW-1 100 5HW-1 50 50 2 NS40 2
16 | W | EW 5885 450 4SS5 450 NS480 -1 1
17 | N |None 3NN3 400 3NN3 400 NS210 5 -5
18 | E | NS 4S5S4 620 4S84 620 NS490 4 -4
19| S | EW 3NS3 400 3NS-2 100 | 500 1 NS170 6 7
20 | W |Both 3NS-1 100 4CXW-3 800 900 14 NS320 -9 -10
&3 IMP| 16 |24 4 | a7
193 . s »
B 5 3¥ 4 12 B
B NP 16 24
&3 INP 16 24 5
2 VP 7.7 12.83
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EW #i#% 45 (R0

b

B# | DL | £ % Fall BB ik REAA | COP Datum
[ 2mxg» [ Ns [EW | 53 | NS [ EW | #4 | #8 | #4 ] #8 | #4[#8 || Mean | Ns | EW
11| S |None|  4HW-1 50 4HW4 420 | 470 10 EW310| 8 3
12| W | NS 3NE4 430 3NE4 430 EW280 | -4 4
13 | N |Both|  2NS-2 200 2NS-2 200 EW100 | -3 3
14 | E |None|  3NE-1 50 3sw4 170 | 220 6 EW90 | 4 2
15| S | NS 3ss4 170 4HW4 420 | 590 " NS40 | 4 10
16 | W | EW 4ss7 510 5SN7 510 NS480 | 1 -1
17 | N |None| 5CXS-1 100 3NN3 400 500 1 NS210 | -7 -5
18| E | NS 4ss4 620 4ss4 620 NS490 | 4 -4
19| s | EW 3DN4 130 3DN4 130 NS170 | -1 1
20 | W (Both|  4DS5 150 3Ds4 130 20 1 NS320 | 5 5
B3t IMP| 28 | 11 1 18
kv Sy . JEWCEN - 23 ‘\/. J
* 4 R 8 QN EPE
* B NP 28 11
&34 1NP 28 11 ;
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B# | DL | £ % Fall BB ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #1 | #10 | #1 [#10] #1 [#10]|] Mean NS EW
11 | S |None 4HW4 420 4HW4 420 EW310 -3 3
12 | W | NS 3NE3 400 3NE-1 50 450 10 EW280 -3 -8
13 | N |Both 1NS1 90 2NS-2 200 290 7 EW100 5 3
14 | E |None 3SW5 200 3NE-2 100 300 7 EW90 -3 -5
15| S | NS 4HW4 420 4SXS4 790 1210 15 NS40 -10 -13
16 | W | EW 4SS5 450 4SN7 510 60 2 NS480 -1 -1
17 | N |None 2NN3 150 3NN3 400 250 6 NS210 -2 -5
18 | E | NS 2SS4 170 4SS4 620 450 10 NS490 -8 -4
19| S | EW 1NS1 90 1NS3 150 60 2 NS170 -2 1
20 | W |Both 2NS2 120 3NN3 600 480 10 NS320 -5 -7
#3 IMP| 7 |62 -32 | -36
B 1 £ & 10 e
+ B IMP 7 62
£+ NP 7 62 55
# 35-VP 20.00
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#[2mxs» [ Ns [EW | e%su% | NS [ EW | #6 | #3 | #6] #3 | #6 [ #3 || Mean | Ns | EW
11| S |None|  3HW4 170 2HW4 170 EW310 | 4 -4
12| W | NS | 3NW3 400 3NE-1 50 450 10 EW280 | -3 -8
13| N |Both|  1NS1 90 2NS-1 100 | 190 5 EW100 | 5
14| E |None|  4SW5 450 4sw4 420 30 1 EW90 | -8 8
15| S | NS | 4HW4 420 | 5HW-1 | 50 470 10 NS40 | -10
16 | W | EW| 4SN7 | 510 4sss | 450 60 2 NS480 | 1 1
17 | N |None| 2NN2 | 120 3NN-1 50 | 170 5 Ns210 | -3 6
18| E | NS| 4sss | 650 4ss4 | 620 30 1 NS490 | 4 4
19| s |EW| 3DS5 | 150 5CXS6 | 650 500 1 NS170 | -1 | -10
20 | W |Both|  5DN-1 100 3NN5 | 660 760 13 NS320 | -9 8
B3t IMP|13 |45 -20 | 19
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* B NP 13 45
£+ INP 13 45 5
2 3VP 1.85 18.15
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B# | DL | £ % MEZ g ik REAA | COP Datum
Y[ 2nzzs [ Ns |EW | 292z2% | NS | EW | #9 | #2 | #9 | #2 |#9 | #2 || Mean | Ns | EW
11| S |None] 3HW4 170 4HW4 420 | 250 6 EW310 | 4 3
12| W | Ns 3NE4 430 3NE3 400 30 1 EW280 | -4 3
13 | N |Both|  2Ns2 120 2NS-1 100 | 220 6 EW100 | 6
14 | E |None| 3sw4 170 4SW-1 50 220 6 EW90 | -2 -4
15| s | NS | S5HXW-2 | 300 5HW-1 50 250 6 NS40 | 6
16 | W | EW 4SN6 480 4sS7 510 30 1 NS480 v
17 | N |None]  3NN-1 50 3NN4 430 480 10 NS210 | -6 -6
18| E | NS 4HS4 620 2DS-2 200 | 820 13 NS490 | 4 12
19| s | EW 1NS3 150 3DN4 130 20 1 NS170 | -1 1
20 | W |Both|  3Ns3 600 3DN5 150 450 10 NS320 | 7 5
B3 INP| 42 | 18 14 | 13
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B# | DL | £ % MEZ g ik REAA | COP Datum
Y[ 2nz2s [ NS [ EW | 2925% | NS | EW | #14 | #7 |#14] #7 |#ma] #7 || Mean | Ns EW
11| S [None]  4HE4 420 4HW4 420 EW310 | -3 3
12| W | NS 3NE3 400 5CE-1 50 450 10 EW280 | -3 -8
13| N |Both| 2NS-1 100 2NS-1 100 EW100
14| E |None| 4SW-1 50 4SW-1 50 EW90 | 4 -4
15| S | NS 4HW-1 50 5HXW-1 | 100 50 2 NS40 2
16| W | EW 4SN7 510 4SS5 450 60 2 NS480 | 1 1
17 | N |None| 2HXW-3 | 500 3NN3 400 100 3 NS210 | 7 5
18| E | NS 4S5S4 620 4SN-1 100 | 720 12 NS490 | 4 1
19| s | EW 4DS5 150 3NS3 400 250 6 NS170 | -1 -6
20 | W |Both|  3NN3 600 1DW-4 400 200 5 NS320 | 7 2
@3t IMP|22 |18 16 | -12
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Table 4
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B# | DL | £ % MEZ g ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #13 | #11 [#13|[#11|#13|#11 || Mean NS EW
11 S |None 4HW4 420 4CN-3 150 270 7 EW310 -3 -4
12| W | NS 3NE4 430 3NE3 400 30 1 EW280 -4 3
13 | N |Both 2NS-2 200 2NS-2 200 EW100 -3 3
14 | E |None 4SW4 420 4SW-1 50 470 10 EW90 -8 -4
15| S NS 5HXW-1 100 S5HXW-1 100 NS40 2 -2
16 | W | EW 4SS5 450 4SS7 510 60 2 NS480 -1 -1
17 | N |None 2NN2 120 5CS-2 100 220 6 NS210 -3 7
18 | E NS 2SXE-4 800 4SS4 620 180 5 NS490 7 -4
19| S | EW 3NS-2 100 3DN4 130 230 6 NS170 -7 1
20 | W (Both 3NN-1 100 3NN3 600 700 12 NS320 -9 -7
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* txzux | NS | EW | 5223 | NS | EW | #12 | #5 [#12] #5 [#12] #5 Mean NS EW
11| S |None] 4HW4 420 4HW4 420 EW310 | -3 3
12| W | Ns 3NE-1 50 3NE4 430 | 480 10 EW280 | 8 4
13 | N |Both| 2NS-2 200 2NS-1 100 100 3 EW100 | -3
14 | E |None| 4SW-1 50 5DE-1 50 EW90 | 4 4
15| S | Ns 5HW-1 50 5HXW-1 | 100 50 2 NS40 -2
16 | W | EW 4SS5 450 5SS5 450 NS480 | -1 1
17 | N |None]  3NN3 400 3NN3 400 NS210 | 5 -5
18| E | NS 4ss4 620 4ss4 620 NS490 | 4 4
19| s | EW 3NS-2 100 3NS3 400 500 1 NS170 | -7 -6
20 | W |Both| 4CXW-3 | 800 3NS-1 100 | 900 14 NS320 | 10 9
@3 IMP| 24 | 16 17 | -4
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B# | DL | £ % MEZ g ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #8 | #4 | #8 | #4 | #8 | #4 Mean NS EW
11| S |None|] 4HW4 420 4HW-1 50 470 10 EW310 | -3 8
12| W | Ns 3NE4 430 3NE4 430 EW280 | -4 4
13| N |Both| 2Ns-2 200 2NS-2 200 EW100 | -3 3
14| E |None] 3swa4 170 3NE-1 50 220 6 EW90 | -2 4
15| s | NS 4HW4 420 3584 170 590 1 NS40 | -10 -4
16| W | EW 5SN7 510 4sS7 510 NS480 | 1 -
17 | N |None]  3NN3 400 5CXS-1 100 | 500 1 NS210 | 5 7
18| E | NS 4sS4 620 4S84 620 NS490 | 4 4
19| s | EW 3DN4 130 3DN4 130 NS170 | -1 1
20 | W |Both 3DS4 130 4DS5 150 20 1 NS320 | -5 5
w3 IMP| 11 |28 18 | -1
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B# | oL | 2w MEZ g ik REAA | COP Datum
[ emnzex | NS [ EW | 25253 | NS | EW | #10 | #1 |#10] #1 |#10] #1 || Mean | NS | EW
11| S |None] 4HW4 420 4HW4 420 EW310 | -3 3
12| W | Ns 3NE-1 50 3NE3 400 | 450 10 EW280 | 8 3
13 | N |Both| 2NS-2 200 1NS1 90 290 7 EW100 | -3 -5
14 | E |None] 3NE-2 100 3SW5 200 | 300 7 EW9 | 5 3
15| S | NS | 4sxsa4 | 790 4HW4 420 | 1210 15 NS40 | 13 10
16 | W | EW 4SN7 510 4SS5 450 60 2 NS480 | 1 1
17 | N |None]  3NN3 400 2NN3 150 250 6 NS210 | 5 2
18| E | NS 4ss4 620 2sS4 170 450 10 NS490 | 4 8
19| s | EW 1NS3 150 1NS1 90 60 2 NS170 | -1 2
20 | W |Both|  3NN3 600 2NS2 120 480 10 NS320 | 7 5
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